

### Chapter 7

### Practical example of IAS 29

This section of the guide provides a detailed practical example of the application of IAS 29. The term 'restated' is used to describe financial statements after the application of IAS 29. The term 'historic' is used to describe financial statements before restatement to current purchasing power. This example is prepared for illustrative purposes only, income statement, statement of changes in shareholders' equity and statement of cash flows are presented for one year. Under IAS 1 comparative figures of these statements are required to be disclosed by the reporting enterprise.

This example does not cover all possible circumstances, nor does it take account of any specific legal framework. Depending on the circumstances, further specific information may be required in order to ensure fair presentation under International Accounting Standards.

١h	e exam	ple is arra	nged as follows	Page
А	Histo	rical Fina	uncial Statements (without notes)	
	A.I	Historic	al Balance Sheets as at 31 December 2003 and 2002	34
	A.II	Historic	al Income Statement for the year ended 31 December 2003	35
	A.III	Historic	al Statement of Cash Flows for the year ended 31 December 2003	36-37
	A.IV	Historic	al Statement of Changes in Equity for the year ended	
		31 Dece	ember 2003	38
В	Addi	tional His	storical Information Required for IAS 29 Restatement	
	B.I	Property	, Plant and Equipment	39
	B.II	Investme	ents	
		B.II.1	Investment in associated undertaking	40
		B.II.2	Other long-term investments	40
		B.II.3	Trading investments	40
	B.III	Inventor	ies and Production Expenditures Incurred	
		B.III.1	Inventory movements for the year	41
		B.III.2	Analysis of production costs incurred within the period	41
		B.III.3	Holding period of inventory	41
	B.IV	Equity		
		B.IV.1	Share capital	42
		B.IV.2	Dividends	42

The	e examp	ole is arran	nged as follows	Page
	B.VI B.VI	Long-terr B.V.1 B.V.2 Revenue Monetary B.VII.1 B.VII.2 B.VII.3 B.VII.4 B.VII.5	n Liabilities Deferred income – government grant Borrowings and Expenses y Items and Cash Flows Other receivables Other payables Revenue – cash receipts Operating cash disbursements Rent prepayments	42 42 43 44 44 44 44 44
		B.VII.6	Trade accounts receivable	44
	B.VIII	Net Mon	etary Position per Quarter	45
С	Inflati C.I C.II C.III C.IV C.V	On Indice Monthly Conversion Mid-mont Other Av	es and Conversion Factors Inflation Indices on Factors to 31 December 2002 Purchasing Power on Factors to 31 December 2003 Purchasing Power on Factors to 31 December 2003 Purchasing Power of the and Average Conversion Factors for 2003 rerage Conversion Factors Used	46 46 47 47 48
D	Gene	ral Condi	tions of the Illustrative Example	49
F	Deste	( f D		
E	Kesta	Support S	rocedures Schedule – Monetary vs Non-monetary Balance Sheet	
	L.I	Compone	ents	50
	E.II	Restatem	ent of Property, Plant and Equipment and Depreciation	
		E.II.1	Restatement of cost to 31 December 2002 purchasing power	51
		E.II.2	Restatement of cost to 31 December 2003 purchasing power	51
		E.II.3	Calculation of accumulated depreciation as at	
			31 December 2002	52
		E.II.4	Calculation of depreciation charge for 2003	52
		E.II.5	Calculation of disposal at 31 December 2003	53
		EILG	Accumulated depreciation reconciliation at 31 December 2003	53
		L.II.0	purchasing power	53
		E.II.7	Inflation adjustment journal entries	54
		E.II.8	Restated property, plant and equipment	54
	E.III	Restatem	ent of Investment in Associated Undertaking	55
	E.IV	Restatem	ent of Long-term Investment Accounted For at Cost	55
	E.V	Restatem	ent of Trading Investment	56
	E.VI	Restatem	ent of Inventories and Cost of Goods Sold	
		E.VI.1	Process of the restatement of inventories	57
		E.VI.2	Restatement of raw materials	58
		E.VI.3	Restatement of sundry supplies	58
		E.VI.4	Restatement of work in progress	59
			Restatement of finished goods and cost of goods sold	60
		E.VI.0 E.VI.7	Residieu inventories – summary	6U 61
	E.VII	Restatem	ent of Deferred Income – Government Grant	62

The	e exam	ple is arran	nged as follows	Page
	E.VIII	Restatem	ent of Revenue and Expenses	63
	E.IX	Restatem	ent of Equity Components	
		E.IX.1	Restatement of paid-in share capital	64
		E.IX.2	Restatement of dividends (declared and paid)	64
		E.IX.3	Reversal of statutory revaluation of property, plant and	
	F 1/		equipment	65
	E.X	Deferred	Tax Calculation	(
	E.XI	Current Y	Charling Retained Earnings	66-67
	E.XII	Summary	Schedule of Inflation Adjustment Journal Entries	68
F	Mone	etary Proc	of	
	F.I	Monetary	y proof based on average quarterly net monetary position	69
G	Supp	ort for Re	estatement of Statement of Cash Flows	
	G.I	Revenue	Collected	70
	G.II	Operatin	g Outflows	
		G.II.1	Raw materials	70
		G.II.2	Wages, utilities, overheads	70
		G.II.3	Rent payments	70
		G.II.4	Income tax paid	70
	G.III	Trade Ac	counts Receivable and Bad Debt Expense	71
	G.IV	Inflation	Effect on	
		G.IV.1	Cash	71
		G.IV.2	Bank overdrafts	71
		G.IV.3	Borrowings	71
		G.IV.4	Financing activities and total for non-operating activities and	
			income tax	72
	G.V	Other Ac	counts Receivable and Payable	73
н	Resta	ted Finan	icial Statements	
	H.I	Restated	Balance Sheets as at 31 December 2003 and 2002	74
	H.II	Restated	Income Statement for the year ended 31 December 2003	75
	H.III	Restated	Statement of Cash Flows for the year ended 31 December 2003	76–77
	H.IV	Restated	Statement of Changes in Equity for the year ended	
		31 Decer	mber 2003	78

### A.I Historical Balance Sheets

	Additional				
(all amounts expressed in HCU)	historical	31 D	ecember	31 D	ecember
	information	2003	2003	2002	2002
Assets					
Non-current assets					
Property, plant and equipment	B.I	54,163		43,337	
Investment in associated undertaking	B.II.1	35,630		16,320	
Other long-term investments	B.II.2	11,000		10,000	
	_		– 100,793		69,657
Current assets					
Inventories	B.III	19,410		15,170	
Trade accounts receivable	B.VII.6	28,170		19,400	
Other receivables	B.VII.1	1,500		1,000	
Trading investments	B.II.3	15,000		5,000	
Cash		9,742		5,750	
	-		73,822		46,320
Total assets			174,615		115,977
<b>Equity and Liabilities</b> Capital and reserves Share capital Revaluation reserve Translation reserve Retained earnings	B.IV.1	22,000 47,157 13,010 22,328	_	17,000 38,130  20,697	
			104,495		75,827
Non-current liabilities					
Deferred income – government grant	B.V.1	2,800		3,200	
Borrowings	B.V.2	29,000		15,000	
	_		31,800		18,200
Current liabilities					
Bank overdrafts		8,060		5,200	
Trade payables		24,760		10,750	
Other payables	B.VII.2	5,500		6,000	
	_		38,320		21,950
Total equity and liabilities			174,615	-	115,977

(all amounts expressed in HCU)	Additional historical	Year ended		
	mormation	31 De	cember 2003	
Sales	B.VI	104.250		
Cost of sales	2	(69,750)		
Gross Profit	_		34,500	
General and administrative expenses:				
Wages and salaries	B.VI	(7,000)		
Depreciation expense		(3,447)		
Rent expense	B.VI	(3,000)		
Bad debt expense		(2,450)		
Other administrative expenses	B.VI	(8,000)		
Amortisation of government grant	B.V.1	400		
Profit on sale of property, plant and equipment	B.I	386		
			(23,111)	
Operating profit			11,389	
Share of result of associate	B.II.1		6,300	
Finance costs:				
Gain on trading investments	B.II.3	4,000		
Interest income		762		
Interest expense		(2,000)		
Net foreign exchange transaction losses	B.VI	(12,620)		
			(9,858)	
Profit before tax			7,831	
Tax	B.VI		(1,200)	
Net income			6,631	

### A.III Historical Statement of Cash Flows

(all amounts expressed in HCU)	Additional historical information	Y	ear ended ecember 2003
Cash flows from operating activities: Direct method (see Indirect reconciliation below) Cash receipts from customers Cash paid for production materials and other supplies Cash paid to employees and for utilities and overheads Rent paid Income tax paid	B.VII.3 B.VII.4 B.VII.4 B.VII.5 B.VII.2	94,410 (18,484) (53,386) (3,200) (1,000)	
Net cash from operating activities			18,340
Cash flows from investing activities: Purchase of trading investments, net Purchase of non-current investments Purchase of property, plant and equipment Interest received Proceeds from sale of property, plant and equipment Net cash used in investing activities	B.11.3 B.11.2 B.1 B.1	(6,000) (1,000) (10,000) 162 1,500	(15,338)
Proceeds from paid-in share capital Proceeds from bank overdrafts, net Interest paid Dividends paid	B.IV.1 B.IV.2	5,000 2,860 (1,870) (5,000)	
Net cash from financing activities			990
Net increase in cash			3,992
Cash at the beginning of the period			5,750
Cash at the end of the period			9,742

### A.III Historical Statement of Cash Flows – *continued*

(all amounts expressed in HCU)	Additional historical information	Year 31 Dece	ended ember 2000
Indirect method Cash flows from operating activities:			
Net income		6,631	
Adjustments for:			
Tax		1.200	
Depreciation charge		7.087	
Bad debt expense		2,450	
Amortisation of government grant	B.V.1	(400)	
Profit on sale of fixed assets		(386)	
Share of result of associate		(6,300)	
Increase in market value of trading investments		(4,000)	
Interest income		(762)	
Interest expense		2.000	
Foreign exchange loss on financing and investing activities		14,000	
Operating profit before changes in working capital			21,520
Changes in working capital:			
Increase in trade accounts receivable	B.VII.6	(11,220)	
Increase in inventory		(4,240)	
Decrease in other receivables	B.VII.1	100	
Increase in trade payables		14,010	
Decrease in other payables	B.VII.2	(830)	
			(2,180)
Cash generated from operations			19,340
Income tax paid			(1,000)
Net cash from operating activities (same as for Direct method)			18 340
receasion operating activities (same as for Direct method)			

### A.IV Historical Statement of Charges in Equity

(all amounts expressed in HCU)	Additional historical information	Share Capital	Revaluation Reserve	Translation Reserve	Retained Earnings	Total
Balance at 1 January 2003	B.IV.1	17,000	38,130	-	20,697	75,827
Share capital paid in	B.IV.1	5,000	_	_	_	5,000
Net profit for the year		_	-	-	6,631	6,631
Revaluation of property, plant and equipment	B.I	-	9,027	_	_	9,027
Currency translation differences	B.II.1	_	_	13,010	_	13,010
Dividends declared in 2003	B.IV.2				(5,000)	(5,000)
Balance at 31 December 2003		22,000	47,157	13,010	22,328	104,495

B.I Property, Plant and Equipment

(all amounts expressed in HCU)		2002	2003	
Gross book value (GBV)		58,600	79,200	
Accumulated depreciation		(15,263)	(25,037)	
Net book value (NBV)		43,337	54,163	
Gross Book Value:				
(all amounts	GBV (as	Date of	Historical	
expressed in HCU)	revalued)	acquisition	expenditures	Details of acquisition/ disposal
Workshop building	12,800	23 Jan' 2000	1,600	The workshop was received as a contribution to share capital and was originally recorded at fair value
Production line	30,000	12 Jan' 2001	9,000	The production line was constructed within a year. The table below contains data on expenditures incurred.
Leasehold improvements	8,000	Jan' 2000	1,200	The office building is rented under an operating lease agreement for 6 years. It was completely renovated at inceptior of the lease.
Office equipment	7,800	Jan' 2000	1,500	
Total at 31 December 2002	58,600		13,300	
Acquired during 2003	10,000	lun' 2003	10,000	New office equipment was acquired
Disposed during 2003	(2,600)	27 Dec' 2003	(500)	1/3 of office equipment was disposed of for cash consideration in the amount of HCU 1,500
2003 statutory revaluation	13,200			The index prescribed by the statute was 1.2 for all fixed assets recorded as at 31 December 2003
Total at 31 December 2003	79,200		22,800	
Accumulated Depreciation:				
·	Estimated	2002	2003	
use	eful life years	HCU	HCU	
Workshop building	20	1,920	2,560	
Production line	10	6,000	9,000	
Leasehold improvements	6	4,000	5,333	
Office equipment	7	3,343	4,457	
Acquired in 2003	5	х	1,000	
Disposed of in 2003		х	(1,486)	
2003 statutory revaluation		Х	4,173	
Total accumulated depreciatio	n	15,263	25,037	
Note: Current year depreciation char included into conversion costs for pre administrative and general expenses.	ge of HCU 7,( oduction, and	087 is comprised of HCU 3,447, incluc	HCU 3,640, led in	
Production line: equipment a	nd installat	ion works		
Costs of production line which were incurred as following	was put in	to opetations on	12 January 200	01
		Cost incurred	HCU	
Fauipment bought	2	7 Feb' 2000	3.700	
Installation cost I phase	with	hin April 2000	1.300	
Environmental block		29 Jul' 2000	1,670	
Installation cost II phase	withi	n October 2000	1,300	
THE CALL AND THE CONTRACT OF THE CALL AND TH		2 213520 2000	.,	
Final testing	first we	eek of Dec' 2000	) 1.030	

#### **B.II Investments**

	HCU
Fair value of net assets acquired	16,000
Cash paid	16,000
Share of net assets at 31 December 2002	16,320
Share of result for 2003	6,300
Exchange difference	13,010
Share of net assets at 31 December 2003	35,630

#### B.II.2: Other long-term investments

Other long-term investments represents a 6% interest in Company B. Company B is a domestic company and is not listed and are carried at cost.

Date of acquisition	% acquired	HCU
31 Mar' 2001	5%	10,000
		10,000
27 Mar' 2003	1%	1,000
		11,000
	Date of acquisition 31 Mar' 2001 27 Mar' 2003	Date of acquisition% acquired31 Mar' 20015%27 Mar' 20031%

#### **B.II.3: Trading Investments**

Trading investments represents equity investments in "blue chips", which are carried at market value. Excess cash is invested into the blue chips market in order to realise short term trading gains.

Movements of trading investments are summarised as follows:

	Additions	Disposals	Balance
(all amounts expresed in HCU)	(at cost)	(at proceeds)	(at market value)
Balance at 31 Dec' 2002			5,000
Quarter I	9,900	(6,950)	
Quarter II	8,750	(5,700)	
Quarter III	5,300	(5,160)	
Quarter VI	6,000	(6,140)	
			6,000
Gain on trading investments (P&L)			4,000
Balance at 31 December 2003			15,000

#### B.III Inventories and Production Expenditures Incurred

B.III.1: Inventory movements for the year				
(all amounts expressed in HCU)	2002	Receipts	Utilised/sold	2003
Raw materials	3,520	34,870	33,070	5,320
Sundry supplies	340	2,376	1,986	730
Work in progress	1,850	71,800	70,340	3,310
Finished stock	9,460	70,340	69,750	10,050
	15,170	179,386	175,146	19,410

Note: The stock is valued using average cost approach. Net realisable value as at 31 December 2003 is about HCU 30,000 (2002: HCU 24,000).

B.III.2: Analysis of production costs incurred within the period							
	2003		2002				
	HCU	%	HCU	%			
Direct:							
Raw materials	33,070	46.1%	23,340	41.1%			
Labour*	20,362	28.3%	17,690	31.2%			
Depreciation	3,640	5.1%	3,640	6.4%			
Utilities and other*	5,321	7.4%	3,829	6.8%			
Overhead materials	1,986	2.8%	1,711	3.0%			
Other overheads*	7,421	10.3%	6,510	11.5%			
	71,800	100%	56,720	100%			

Note: Raw materials stock is direct materials of production. Sundry supplies are related to production overheads. WIP average stage of completion is 50% with all direct materials being input at the beginning of production cycle.

*Quarterly labour, utilities and overhead expenses are as follows:				
	HCU			
l. quarter	8,172			
II. quarter	7,902			
III. quarter	9,232			
IV. quarter	7,798			
Total for the year	33,104			

B.III.3: Holding period of inventory					
(all in months)	Holding period	Within work in progress	Within finished goods		
Raw materials	1.6	2.0	3.7		
Sundry supplies	3.2	3.6	5.3		
Work in progress (WIP)	0.4	x	2.1		
Finished stock	1.7	х	Х		

Note: The actual age of the inventories, including WIP, should be determined based on the date of purchase or costs incurred. For this example we have used an average age of WIP and finished goods turnover for simplicity. Average age of inventory may not be appropriate for use in the IAS 29 calculation in some circumstances.

#### **B.IV: Equity**

#### **B.IV.1: Share capital**

An analysis of share capital contributi	ons are as follows	:	
	Date of		
	contribution	HCU	Comments
Initial contributions	23 Jan' 2000	6,400	Half of the shares were paid in cash and
			half in consideration of workshop
			(see <b>B.I</b> ) at par value
Initial contributions	30 Jun' 2000	3,600	Paid in cash at par value
Paid in first installment of	5 Dec' 2002	7,000	Second issue registered at 3 May' 2002
second issue			was in the amount of HCU 12,000
Balance at 31 December 2002		17,000	
Paid in remainder of second issue	24 Sep' 2003	5,000	The shares were paid in cash at par value
Balance at 31 December 2003		22,000	

#### **B.IV.2: Dividends**

Dividends in the amount of HCU 5,000 were declared in June 2003 and paid in cash at the end of November 2003.

#### **BV: Long-Term Liabilities**

#### B.V.1: Deferred income - government grant

On 30 June 2000 the Company received a grant of HCU 4,000 for capital expenditures and accounted for this as deferred income. The grant was conditional based on installment of an environmental block in the production line (see **B.I**). The grant is amortised to the income statement over the depreciation period of the related assets starting January 2001 on a straight-line basis.

Government grant is not taxed. Depreciation of grant related asset (as well as for all Company's property, plant and equipment) is deductible for tax purposes in amounts calculated on the base of statutory revalued fixed assets on a straight line basis from the month in which it was put into operation until the month of disposal.

#### **B.V.2: Borrowings**

Borrowed funds represent a USD loan. The loan is to be repaid in 2006.

There were no movements during the year in USD terms, unrealised foreign exchange loss was as follows:

	E	Exchange			
	USD	rate	HCU		
Balance at 31 December 2002 Balance at 31 December 2003	5,000 5,000	3.00 5.80	15,000 29,000		
Foreign exchange loss charged through the income statement					

Monthly revenue and expenses								
(all amounts		Genera	General and admin expenses			exchange	Current	
expressed in HCU)	Revenue	Rent	Wages	Other	gain	loss	tax*	
January	5,750	233			(124)	1,094		
February	6,245	233			(49)	194		
March	7,940	234			(104)	1,412		
l quarter	19,935	700	1,477	1,558	(277)	2,700	254	
April	7,475	233			(207)	1,842		
May	9,250	233			(164)	1,584		
June	9,370	234			(121)	1,495		
II quarter	26,095	700	1,506	1,921	(492)	4,921	572	
July	11,150	233			(109)	1,319		
August	10,115	233			(113)	1,036		
September	9,455	234			(26)	1,557		
III quarter	30,720	700	1,901	2,263	(248)	3,912	21	
October	9,970	300			(85)	479		
November	8,850	300			(101)	871		
December	8,680	300			(177)	1,117		
IV quarter	27,500	900	2,116	2,258	(363)	2,467	353	
	104,250	3,000	7,000	8,000	(1,380)	14,000	1,200	

The foreign exchange loss results from borrowed funds. The foreign exchange gain results from a number of small receivables.

\*The Company calculates and accrues income tax only at the end of each quarter based on quarterly tax returns. A monetary gain related to the tax liability will result from the time there is a legal liability to the government.

#### B.VII Monetary Items and Cash Flows

#### **B.VII.1: Other receivables**

As at 31 December 2003 other receivables included HCU 600 (2002: HCU nil) of dividends from trading investments declared but not paid and HCU 900 (2002: HCU 700) of quarterly rent paid in advance in accordance with the lease agreement.

The rest of other receivables are sundry prepayments of an operating nature.

#### **B.VII.2: Other payables**

As at 31 December 2003, other payables included HCU 190 (2002: HCU 60) of December interest on borrowings payable within five days after each month end.

Also, as at 31 December 2003, other payables included HCU 353 (2002: HCU 153) of income tax payable within a month after each quarter end. The Company pays its tax liabilities one month after each quarter end without delay. Income tax is 30%.

The rest of other payables are sundry payables of operating nature.

#### B.VII.3: Revenue - cash receipts

I. quarter		II. quarte	er	III. quarter		IV. quarter
January	7,340	April	7,420	July	6,720	October 7,730
February	8,740	May	8,030	August	7,720	November 8,220
March	8,160	June	7,330	September	8,240	December 8,760
Quarter	24,240		22,780		22,680	24,710
Total for th	ne year					94,410

	Raw materials	Wages, utilities,
	(HCU)	overheads (HCU)
I. quarter	4,477	10,810
II. quarter	3,923	12,373
III. quarter	4,651	14,692
IV. quarter	5,433	15,511
	18,484	53,386

B.VII.5: Rent prepaymen	its	
Rent is payable quarterly	in advance. The	following payments were made:
Date of cash outflow	HCU	
27–Mar	700	
29–Jun	700	
17–Sep	900	
25–Dec	900	
	3,200	

B.VII.6: Trade accounts receivable		
(all amounts expressed in HCU)	2002	2003
Trade accounts receivable, gross	22,650	33,870
Bad debt provision	(3,250)	(5,700)
Trade accounts receivable, net	19,400	28,170

Note: The company reassesses its bad debt provision once a year at the year-end.

### B.VIII Net Monetary Position per Quarter

(all expressed in HCU)	31–Dec 2002	31–Mar 2003	30–Jun 2003	30–Sep 2003	31–Dec 2003
Assets					
Trade accounts receivable	22,650	18,945	22,760	31,400	33,870
Provision for bad debts	(3,250)	(3,250)	(3,250)	(3,250)	(5,700)
Other receivables	1,000	1,125	1,250	1,500	1,500
Cash	5,750	5,745	7,746	8,741	9,742
Total assets	26,150	22,565	28,506	38,391	39,412
Liabilities					
Borrowings	(15,000)	(17,700)	(22,621)	(26,533)	(29,000)
Bank overdrafts	(5,200)	(5,922)	(6,630)	(3,340)	(8,060)
Trade payables	(10,750)	(15,037)	(19,878)	(23,991)	(24,760)
Dividends payable	_	-	(5,000)	(5,000)	-
Other payables	(6,000)	(5,101)	(5,419)	(4,868)	(5,500)
Total liabilities	(36,950)	(43,760)	(59,548)	(63,732)	(67,320)
Net monetary position	(10,800)	(21,195)	(31,042)	(25,341)	(27,908)
Bank overdrafts Trade payables Dividends payable Other payables Total liabilities Net monetary position	(5,200) (10,750) - (6,000) (36,950) (10,800)	(5,922) (15,037) – (5,101) (43,760) (21,195)	(6,630) (19,878) (5,000) (5,419) (59,548) (31,042)	(3,340) (23,991) (5,000) (4,868) (63,732) (25,341)	(8,060) (24,760) - (5,500) (67,320) (27,908)

#### C.I Monthly Inflation Indices

the prior month's end prices	. Generally, such inc	lices are publicly avai	lable.	
	Inflat	ion for a month / Mor	thly inflation index	
	2000	2001	2002	2003
January	9.0% / 1.090	5.6%/1.056	6.5%/1.065	3.6%/1.036
February	5.8% / 1.058	6.2%/1.062	4.5%/1.045	3.4%/1.034
March	7.0% / 1.070	6.0%/1.060	4.0%/1.040	4.0%/1.040
April	8.1%/1.081	5.5%/1.055	4.2%/1.042	5.3%/1.053
May	4.1%/1.041	5.2%/1.052	3.2%/1.032	3.2%/1.032
June	2.7%/1.027	3.4%/1.034	1.6%/1.016	1.8%/1.018
July	2.4%/1.024	5.3%/1.053	2.5%/1.025	4.0%/1.040
August	3.8% / 1.038	5.3%/1.053	2.4%/1.024	3.3%/1.033
September	5.1%/1.051	6.3%/1.063	5.3%/1.053	5.9% / 1.059
October	5.5% / 1.055	6.6%/1.066	4.2%/1.042	3.7%/1.037
November	5.1%/1.051	5.6%/1.056	3.4%/1.034	3.9%/1.039
December	3.9% / 1.039	5.4%/1.054	2.5%/1.025	3.9%/1.039
Accumulated for the year	83.5% / 1.835	90.8% / 1.908	54.3%/1.543	56.9% / 1.569

# Monthly inflation indices represent monthly general growth in prices, i.e. the ratio of a month's end prices to the prior month's end prices. Generally, such indices are publicly available.

#### C.II Conversion Factors to 31 December 2002 Purchasing Power

From the end of	2000	2001	2002
January	4.965	2.789	1.448
February	4.691	2.626	1.385
March	4.383	2.477	1.332
April	4.055	2.347	1.280
May	3.894	2.231	1.240
June	3.791	2.157	1.221
July	3.703	2.049	1.191
August	3.568	1.946	1.163
September	3.395	1.831	1.104
October	3.219	1.717	1.060
November	3.062	1.626	1.025
December	2.946	1.543	1.000

Conversion factor for the end of December 2002 is 1.000; for the end of any other month – calculated as multiplication of monthly inflation indices for all months following that date up to Dec 2002.

For example: end of September 2002 factor is

 $104.2/100 \times 103.4/100 \times 102.5/100$  (see monthly inflation indices above) = 1.104

#### C.III Conversion Factors to 31 December 2003 Purchasing Power

From the end of	2000	2001	2002	2003
January	7.790	4.376	2.273	1.515
February	7.360	4.120	2.173	1.466
March	6.877	3.886	2.089	1.410
April	6.363	3.682	2.009	1.339
May	6.110	3.500	1.945	1.297
June	5.948	3.385	1.916	1.274
July	5.810	3.215	1.868	1.225
August	5.599	3.053	1.824	1.186
September	5.327	2.873	1.732	1.120
October	5.050	2.693	1.663	1.079
November	4.805	2.551	1.608	1.039
December	4.623	2.421	1.569	1.000

Conversion factor for the end of December 2003 is 1.000; for the end of any other month – calculated as multiplication of monthly inflation indices for all months following that date up to December 2003.

For example: end of September 2003 factor is

103.7/100 x 103.9/100 x 103.9/100 (see monthly inflation indices above) = 1.120

#### C.IV Mid-month and Average Conversion Factors for 2003

- To restate a specific transaction the nearest conversion factor is used. To restate a significant volume of transactions of similar type (e.g.: sales), the average conversion factor for the period is generally used.
- As inflation is constant within each month, the mid-month conversion factors have been used as a monthly average. Mid-month conversion factor is the geometrical average as illustrated in the following example: For October, the conversion factor is 1.099 = [square root(103.7/100)]x[103.9/100]x[103.9/100]
- Quarterly averages and average for the year were calculated as arithmetic average of the mid-month indices.

	Monthly	Со	nversion factor	s
	indices	Mid-month	Quarterly	Average for
	( <b>C.I</b> +100%)	(andmonthly	average	the year
		average)		
lanuary	103.6%	1.542		
February	103.4%	1.491		
March	104.0%	1.438	1.490	
April	105.3%	1.374		
May	103.2%	1.318		
June	101.8%	1.285	1.326	
July	104.0%	1.249		
August	103.3%	1.205		
September	105.9%	1.153	1.202	
October	103.7%	1.099		
November	103.9%	1.059		
December	103.9%	1.019	1.059	1.269

### C.V: Other Average Conversion Factors Used

Based on the same principles as described at **C.IV**, the following conversion factors required for restatement were calculated:

	Conversion factor up to 31 December 2002 purchasing power	Conversion factor up to 31 December 2003 purchasing power
Average for April 2000	4.216	6.615
Average for October 2000	3.306	5.187
Middle of July 2002	1.206	1.892
Middle of September 2002	1.088	1.707
Middle of November 2002	1.042	1.635
Middle of December 2002	1.012	1.588

- 1. The historical financial statements comply with IAS (including IAS 39) except for the following:
  - **1.1.** Fixed assets are revalued using pre-defined statutory indices. These indices are accepted for tax purposes.
  - 1.2. Investment in a non-listed company targeted for acquisition is accounted for at cost.
  - 1.3. Hyperinflationary restatement was not applied.
  - 1.4. Deferred tax was not calculated and accrued.

2. The following measurement units are used in the illustrative example:

HCU – historical currency units – the nominal currency of the hyperinflationary economy;

CCU – current currency units – the units of year end purchasing power (2002 or 2003 depending on the underling item).

If the relevant year-end purchasing power is not evident, the following abbreviations are used:

2002 CCU - current currency units in 31 December 2002 purchasing power;

2003 CCU - current currency units in 31 December 2003 purchasing power.

- 3. Depending on the level of fluctuation of the underlying transactions, rate of inflation, and materiality of the respective amounts, the relevant line items in the statements of income and of cash flows may be restated on a monthly, quarterly, or average basis, or on the basis of actual expenditure/cash flows. Although there is an element of judgement inherent in the determination of the basis of restatement for these items, the assumptions used and judgements made should be consistent between the items and statements. In order to illustrate the effects of the application of a range of indices, various conditions have been assumed and these have resulted in varying bases for the restatement.
- 4. All investing and financing activities cash flows including property, plant and equipment purchases and installation works are close to the date of the underlying acquisition or disposal transaction unless otherwise indicated.
- 5. The company is not subject to VAT or any other taxes besides income tax.
- 6. Income tax is calculated based on the historical income statement except for certain non-tax deductible expenses. There are no temporary differences between the historical carrying values and their tax bases except for the associated undertaking. Income from associates is not taxed if income is not repatriated through dividends or sale of business. Profit repatriation tax is 30% on cash received from abroad.

### E.I Support Schedule – Monetary vs Non-monetary Balance Sheet Components

Assets	Monetary (Accumulate monetary gains/losses, to be used for monetary proof)	Non-Monetary (To be restated and included into adjustment schedule)
<b>Non-current assets</b> Property, plant and equipment Investment in associated undertaking Other long-term investments		$\frac{1}{\sqrt{2}}$
Current assets Inventories Trade accounts receivable Provision for bad debts Other receivables Trading investments (all investments in equity) Cash	$\sqrt{1}$ $\sqrt{1}$ $\sqrt{1}$	$\checkmark$
Liabilities and Equity Capital and reserves Share capital Revaluation reserve Translation reserve Retained earnings		√ n/a √ √
<b>Non-current liabilities</b> Deferred income – government grant Borrowings Deferred tax liabilities	$\checkmark$	$\checkmark$
<b>Current liabilities</b> Bank overdrafts Trade payables Other payables	$\sqrt{1}$ $\sqrt{1}$	

### E.II Restatement of Property, Plant and Equipment and Depreciation

			Conversion		
			factor	2002	
	Acquired/incurred	HCU ( <b>B.I</b> )	( <b>C.II</b> )	CCU	2002CCU-HCU
Equipment bought	27 Feb' 2000	3,700	4.691	17,357	
Installation cost I phase	within April 2000	1,300	4.216	5,481	
Environmental block	29 Jul' 2000	1,670	3.703	6,184	
Installation cost II phase	within October 2000	1,300	3.306	4,298	
Final testing	first week of Dec' 2000	1,030	3.062	3,154	
Total production line		9,000		36,474	
Workshop building	23 Jan' 2000	1,600	4.965	7,944	
Leasehold improvements	Jan' 2000	1,200	4.965	5,958	
Office equipment	Jan' 2000	1,500	4.965	7,448	
		13,300		57,824	44,524

E.II.2: Restatement of cost	to 31 December 2003 pu	rchasing po	wer		
		(	Conversion		
		HCU	factor		
	Acquired/incurred	( <b>B.I</b> )	(C.III)	CCU	CCU-HCU
Equipment bought	27 Feb' 2000	3,700	7.360	27,232	
Installation cost I phase	within April 2000	1,300	6.615	8,600	
Environmental block	29 Jul' 2000	1,670	5.810	9,703	
Installation cost II phase	within October 2000	1,300	5.187	6,743	
Final testing	first week of Dec' 2000	1,030	4.804	4,948	
Total production line		9,000		57,226	
Workshop building	23 Jan' 2000	1,600	7.790	12,464	
Leasehold improvements	Jan' 2000	1,200	7.790	9,348	
Office equipment	Jan' 2000	1,500	7.790	11,685	
Total cost at 31 December	2002	13,300		90,723	77,423
Addition	Jun' 2003	10,000	1.274	12,740	2,740
Disposal	Jan' 2000	(500)	7.790	(3,895)	(3,395)
Total cost at 31 December	2003	22,800		99,568	76,768
Note: The statutory revaluation s	urplus has been reversed agains	t revaluation re	eserve in order to	o get actual histo	orical costs (see E.IX.3

E.II Restatement of Property, Plant and Equipment and Depreciation - continued

#### E.II.3: Calculation of accumulated depreciation at 31 December 2002

The restated cost calculated above is the basis for determining the restated depreciation. The historical depreciation was reversed (see **ADJ 2** on **E.XII**) and has been replaced by CCU amounts calculated below:

			Accumu	llated	
		In use as at	deprecia	tion at	
	Useful economic	31 Dec'	31 Decemb	er 2002	2003 CCU-
	life	2002	2002 CCU	2003 CCU	2002 CCU
			Y*E.III.1 /	Y*E.III.2 /	
	UEL	Y	UEL	UEL	
Production line	10	2	7,295	11,445	
Workshop building	20	3	1,192	1,870	
Leasehold improvement	ts 6	3	2,979	4,674	
Office equipment	7	3	3,192	5,008	
			14,658	22,997	8,339

E.III.4: Calculation of depreci	ation charge for 2003				
	Useful economic	Used in the	Depreciation		
	life	year	charge,		
			2003 CCU		
Production line	10	1	5,723	Production	
Workshop building	20	1	623	expenses	6,346 <b>e</b>
Leasehold improvements	6	1	1,558		
Office equipment	7	1	1,669	General &	
Office equipment – addition	5	1/2	1,274	Admin	4,501 <b>H.II,f</b>
			10,847	H.III	
Workshop building Leasehold improvements Office equipment Office equipment – addition	20 6 7 5	1 1 1/2	623 1,558 1,669 1,274 10,847	expenses General & Admin H.III	6,346 ¢ 4,501 <b>H.II</b> ,

### E.II Restatement of PPE and Depreciation – *continued*

·		81	Conversion	
	HCU ( <b>B.I</b> )	Date	factor ( <b>C.III</b> )	CCU
Proceeds	1500	27 Dec' 2003	1.000	1500
	HCU ( <b>B.I</b> )	CCU	CCU-HCU	
Gross book value	2,600	3,895	1,295	
Accumulated depreciation				
(1/3 of total depreciation on				
office equipment)	(1,486)	(2,226)	(740)	
Proceeds	(1,500)	(1,500)	0	
(Gain) / loss on disposal	(386)	169	555	

SourceCCUAccumulated depreciation at 31 December 2002E.II.322,997Depreciation charge for 2003E.II.410,847Dimensional Control Contro	E.II.6: Accumulated depreciation reconciliation (31 December 2003 purchasin		
Accumulated depreciation at 31 December 2002E.II.322,997Depreciation charge for 2003E.II.410,847DiameterDiameterDiameter		Source	CCU
Depreciation charge for 2003 E.II.4 10,847	Accumulated depreciation at 31 December 2002	E.II.3	22,997
	Depreciation charge for 2003	E.II.4	10,847
Disposed E.II.5 (2,226)	Disposed	E.II.5	(2,226)
Accumulated depreciation at 31 December 2003 31,618	Accumulated depreciation at 31 December 2003		31,618

### E.II Restatement of PPE and Depreciation – *continued*

E.II.7: Inflation adjustment journal ent	ries			
i) Reversal of statutory depreciation (red	cordec	in <b>E.XII</b> as <b>A</b>	DJ 2)	
Property, plant and equipment	Dr	20,864		Historical accumulated depreciation at 31 December 2003
Gain on disposal of property				
plant and equipment	Dr	1,486		Historical accumulated depreciation for disposed assets
Retained earnings – opening balance		Cr	(8,093)	Historical accumulated depreciation at 31 December 2002
Revaluation reserve		Cr	(7,170)	Prior year revaluation of accumulated depreciation
General and administrative				2003 historical depreciation charged to
expenses, depreciation		Cr	(3,447)	general expenses
Temporary holding account				2003 historical depreciation included
(Current period expenses)*		Cr	(3,640)	into costs of conversion
		22,350	(22,350)	
ii) Restatement of property, plant and e	quipm	ent cost (rec	orded in E.	XII as ADJ 3)
Property, plant and equipment	Dr	76,768		b
Gain on disposal of property, plant				
and equipment	Dr	3,395		C
Retained earnings – opening balance		Cr	(44,524)	a
		80,163	(44,524)	
Net monetary gain		Cr	(35,639)	b+c-a
		80,163	(80,163)	
iii) Accumulated depreciation in 2003	purcha	asing power (	recorded i	n E.XII as ADJ 4)
Retained earnings – opening balance	Dr	14,658		<b>d</b> (opening accumulated depreciation in 2002 CCU)
General and administrative				
expenses, depreciation	Dr	4,501		e
Temporary holding account				
(Current period expenses)*	Dr	6,346		f
Property, plant and equipment		Cr	(31,618)	g
Gain on disposal of property,				0
plant and equipment		Cr	(2,226)	h
		25,505	(33,844)	
Net monetary gain	Dr	8,339	. , .	<b>d</b> (2003 inflation surplus on opening accumulated depreciation)
		33,844	(33,844)	
*The depression forms part of paris-1	- cated -	mong W/ID fire	ished good-	and part of goods cold. However, for simplicity, and

\*The depreciation forms part of period costs allocated among WIP, finished goods and cost of goods sold. However, for simplicity, no allocation of the current period depreciation is done at this stage. A temporary holding account was used to accumulate the depreciation on the historical cost of the assets, which is being eliminated. The amounts included in this holding account are appropriately allocated to inventories or cost of goods sold during the restatement of inventory. See section E.IV.

E.II.8: Restated property, plant and equip	ment:		
(all amounts expressed in 2003 CCU)	Source	2002	2003
Gross book value (GBV)	E.II.2	90,723	99,568
Accumulated depreciation	E.II.6	(22,997)	(31,618)
Net book value (NBV)		67,726	67,950

E.III Restatement of Investment in Associated Undertaking

As the foreign associated undertaking is accounted for at exchange rates current at the balance sheet date, no restatement of this balance sheet component is required at 31 December 2003. However, the restatement is necessary to calculate the appropriate translation reserve charge and monetary effect for the period. Share of result of associate was restated by the average conversion factor for 2003.

	(	Conversion		
		factor		
	HCU (B.II)	(C.III)	CCU	CCU-HCU
Share of net assets at 31 December 2002	16,320	1.569	25,606	9,286 c
Share of result of associate	6,300	1.269	7,995	1,695 b
Exchange difference	13,010	Balancing	2,029	(10,981) <b>a</b>
Share of net assets at 31 December 2003	35,630	1.000	35,630	0

IAS 29 adjustment entry (recorded in E.XII as ADJ 6):

Translation reserve	Dr		10,981		a
Share of result of associate		Cr		(1,695)	b
Net monetary gain		Cr		(9,286)	c=a+b
			10,981	(10,981)	

#### E.IV Restatement of Long-Term Investments Accounted For at Cost

The investment in the Company B should be restated from the date of acquisition. Such investments fall in available-for-sale investments group and as such should be fair valued in accordance with IAS 39.

	Conversion	At cost	Conversion			Fair	Fair	
	factor	( <b>B.II</b> ),	factor	Cost		value	value –	
	date	HCU	(C.II, C.III)	CCU	CCU-HCU	( <b>B.II</b> )	CCU	
Initial acquisition	31 Mar' 2001	10,000						
Balance at 31 Decem	ber 2002							
in 2002 purchasing	power		2.477	24,770	14,770	23,500	(1,270)	b
2003 inflation of 56.9	9%							
(from conversion fa	ctor 1.569)			14,094		13,372		С
Balance at 31 Decem	ber 2002		-					
in 2003 purchasing	power		3.886	38,864	28,864	36,872	(1,992)	
Additions	27 Mar' 2003	1,000	1.410	1,410	410	1,410		d
Cost at 31 December	2003	11,000		40,274	29,274			a
		Fair value a	idjustment (ec	uity) (cal	culated)	2,718		
		Carrying va	lue at 31 Dec	ember 20	003 ( <b>B.II</b> )	41,000	726	e
IAS 29 and IAS 39 adj	justment entry (rec	corded in E.	XII as ADJ 7):					
Other long-term invest	stments Dr		30,000		a+e			
Fair value reserve		Ci	r	(726)	e			
Retained earnings - o	pening							
balance		Ci		(14,770)	b (CCU – HC	CU)		
Net monetary gain		Сг	·	(14,504)	c (for cost)+	d		
			30,000	(30,000)				

#### E.V Restatement of Trading Investments

As trading investments are carried at market value (i.e. a unit current at the balance sheet date), no restatement of this balance sheet component is required at 31 December 2003.

However, the restatement is necessary to calculate the appropriate income statement effect of the change in market value of the trading investments and monetary effect for the period.

The calculations are as ion	0005.				
	Conversion	HCU	Conversion		
	factor date	(B.II)	factor (C.III)	CCU	CCU-HCU
Balance at 31 December 2	002				
(market value)	31-Dec-2002	5,000	1.569	7,845	2,845
Additions, at cost	l.q. average	9,900	1.490	14,751	
Additions, at cost	ll.q. average	8,750	1.326	11,602	
Additions, at cost	III.q. average	5,300	1.202	6,371	
Additions, at cost	IV.q. average	6,000	1.059	6,354	
Disposal, at proceeds	l.q. average	(6,950)	1.490	(10,356)	
Disposal, at proceeds	ll.q. average	(5,700)	1.326	(7,558)	
Disposal, at proceeds	III.q. average	(5,160)	1.202	(6,202)	
Disposal, at proceeds	IV.q. average	(6,140)	1.059	(6,502)	
Net additions for 2003	_	6,000	1.410	8,460	2,460
	_	11,000		16,305	5,305
Balance at 31 December 2	003				
(market value)	31 Dec 2003	15,000	1.000	15,000	-
P&L, gain/ (loss) on trading	investments	4,000		(1,305)	(5,305)
IAS 29 adjustment entry (re	ecorded in <b>E.XII</b> as <b>AD</b>	J 8):			
Gain on trading investmen	ts Dr	5,305			
Net monetary gain	Cr	,	(5,305)		
7.0					

The calculations are as follows:

#### E.VI Restatement of Inventories and Cost of Goods Sold

#### E.VI.1: Process of the Restatement of Inventories

The order of restating inventory should follow the production process. The order is necessary to consider the cumulative effect of holding materials and expenditures throughout the production process.

The restatement may be broken into four stages:

#### 1) Restatement of opening inventories.

The restatement is based on the period of holding the stock or costs incurred (for work in progress (WIP) and goods produced).

- 1a) Firstly, the opening balances should be restated to the prior year-end purchasing power. That is, all raw materials and component costs of finished goods and WIP should be restated from the date of acquisition or expenditure to the opening balance sheet date. The difference (inflation effect) relates to the prior year(s) and, thus, is included in the opening retained earnings.
- 1b) Secondly, the opening inventories presented in prior year purchasing power should be restated to current year end purchasing power. The resulting difference would be credited to monetary gain for the current period.

#### 2) Restatement of period additions.

In practice, the restatement of stock additions may require the historical information to be restated on a monthly or quarterly basis, depending on the rate of inflation during the year and timing of expenditures. However, yearly average inflation (i.e. conversion factor of 1.269) has been used in this illustrative example. WIP additions throughout the year should be inflated from the date of acquisition or expenditure, thus a monetary gain is realised by holding those costs in WIP.

#### 3) Restatement of closing inventories.

Restatement of closing stock should be performed in the same manner as the restatement of opening inventories.

#### 4) Calculation of the inventory used in the production process

Stock disposals in terms of current year end purchasing power could be calculated as follows (all amounts should be expressed in 2003 CCU):

Opening inventory balance

Additions on account for 2003

Less:

Closing inventory balance

Raw materials shipped for conversion or WIP completed or cost of goods sold (depending on type of inventory) in 2003 CCU.

### E.VI Restatement of Inventories and Cost of Goods Sold - continued

	HCU	Conversion				
	( <b>B.III.1</b> )	factor*	2002 CCU	2003 CCU	CCU-HCU	
Opening balance						
(1.6 months holding period)	3,520	1.042	3,668		148	â
2003 inflation of 56.9%						
(from conversion factor 1.569)		1.569		2,087		
Opening balance in 2003 CCU		1.635		5,755	2,235	
Receipts	34,870	1.269		44,250	9,380	
Less:						
Closing balance						
(1.6 months holding period)	(5,320)	1.059		(5,634)	(314)	k
Raw materials usage	33,070			44,371	11,301	

Following the described algorithm the following restatement of inventories was performed:

\*Conversion factor for the inventory balances is calculated based on inventory holding period (see **B.III.3**). That is, for a 1.6 month holding period the conversion factor used is from middle of November of the respective year (see section **C**).

E.VI.3: Restatement of Sundry Su	pplies					
		Conversion				
	HCU	factor*				
	( <b>B.III.1</b> )	(section C)	2002 CCU	2003 CCU	CCU-HCU	
Opening balance						
(3.2 months holding period)	340	1.104	375		35	d
2003 inflation of 56.9%						
(from conversion factor 1.569)		1.569		213		
Opening balance in 2003 CCU			1.732	588	248	
Receipts		2,376	1.269	3,015	639	
Less:						
Closing balance						
(3.2 months holding period)	(730)	1.120		(818)	(88)	e
Usage of sundry supplies		1,986		2,785	799	

### E.VI Restatement of Inventories and Cost of Goods Sold – *continued*

EVI 4: Restatement of Work i	n Progress							
L.VI.4. Restatement of Work	litiogress	Со	nversion		Conversion			
	Holding	3	factor		factor	2002	CCU-	
	period		date	HCU	(section C)	CCU	HCU	
Opening WIP*								
Labour, utilities and services	0.4	Mid	Dec 2002	649	1.012	657	8	
Raw materials	2.0(0.4+1)	.6) End	Oct 2002	1,078	1.060	1,143	65	
Depreciation**				84	left as not	84	_	
					material			
Overhead materials	3.6(0.4+3	.2) Mid	Sep 2002	39	1.088	42	3	
Opening WIP (B.III.1) – total				1,850		1,926	76	h
		Co	nversion		Conversion			
	Holding	5	factor		factor		CCU-	
	period		date	HCU	(section C)	CCU	HCU	
Opening WIP at 31 December	2002 CCU					1,926		
2003 inflation of 56.9% (from	conversion fac	ctor 1.569)				1,096		
Opening balance in 2003 CCL	J					3,022	1,172	
Receipts (B.III.2):								
Labour, utilities and services	:							
l quarter	х	Aver	age for Q1	8,172	1.490	12,176	4,004	
ll quarter	х	Aver	age for Q2	7,902	1.326	10,478	2,576	
III quarter	х	Aver	age for Q3	9,232	1.202	11,097	1,865	
IV quarter	х	Aver	age for Q4	7,798	1.059	8,258	460	
Raw materials	х		x	33,070	see E.VI.2	44,371	11,301	
Depreciation	х		х	3,640	see E.II.4	6,346	2,706	f
Overhead materials	х		х	1,986	see E.VI.3	2,785	799	
Total expenditures incurred				71,800		95,511	23,711	
Less: Closing balance*								
Labour, utilities and services	;							
(46%x50%=23.0%)	0.4	Mid	Dec 2003	1,042	1.019	1,062	20	
Raw materials (46.1%)	2.0(0.4+1)	.6) End	Oct 2003	2,089	1.079	2,254	165	
Depreciation	·			,	left as	,		
(5.1% x50% = 2.5%)**				116	not material	116	_	
Overhead materials					not material			
$(2.8\% \times 50\% = 1.4\%)$	3.6(0.4+3)	2) Mid	Sep 2003	63	1 1 5 3	73	10	
$\frac{1}{Closing balance (B, III, 1) - total}$	(73.0%)	.2) 1110	5cp 2005	3 310	1.135	3 505	195	σ
Goods produced	(73.070)			70 340		95.028	24 688	ь i
*The split between components of W/I		ated based or	the structure	of ovponditur	os incurred (see F	2 III 2) and th	2 1,000	J
stage of WIP completion (50% – see D	). The approxima	ated based of	ening WIP ha	s been shown	below for illustra	ative purpos	es:	
Component	xpenditures	Percent of		5 Seen Shorth	Tota	d WIP	W/IP	
	(BIII 2)	completion	W/e	ight in W/IP	(B	III 1) com	nonents	
	(a)	(h)	$\overline{(a)x(b)}$	$\frac{(c)}{(a)}$	$\frac{1}{10000000000000000000000000000000000$	(d)	(c)v(d)	
Labour utilities and services	19.5%	50%	24.8%	35	1%	(u)	6/0	
Row motorials	45.576	100%	24.070 11 1%	58	30/_		1 078	
	41.170	5.0%	2 2 2 2 2	JO. 4 E	J /0		1,070	
Overhead materials	0.4 /0 2 00/	50%	J.Z 70 1 E0/	4.3	0/		20	
	3.0%	30% 70.0%	1.0%	2.1	70		1 950	
	100.0%	/0.0%	100.0%	1,8	50		1,850	
**Depreciation included into WIP sto circumstances it could be necessary t	ock was not adjus o apply the appre	sted for inflati oached used	on as the ame for finished ge	ount is not sig bods (see <b>E.V</b> I	nificant. Howeve 1 <b>.5</b> ).	er, in dittere	nt	

#### E.VI Restatement of Inventories and Cost of Goods Sold - continued

E.VI.5: Restatement of Finishe	d Goods and Cost	of Goods Sold					
		Conversion		Conversion			
	Holding	factor		factor	2002	CCU-	
	period	date	HCU	(section C)	CCU	HCU	
Opening finished goods stock	(*						
Labour, utilities and							
services (49.5%)	2.1(1.7+0.4)	End Oct 2002	4,683	1.060	4,964	281	
Raw materials (41.1%)	3.7 (1.7+0.4+1.6)	Mid Sep 2002	3,888	1.088	4,230	342	
Depreciation (6.4%)**			605	1.111	672	67	
Overhead materials (3.0%)	5.3 (1.7+0.4+3.2)	Mid July 2002	284	1.206	343	59	
Opening finished goods (B.III.	1) – total (100%)		9,460		10,209	749	k
		Conversion		Conversion			
	Holding	factor		factor	2003	CCU-	
	period	date	HCU	(section C)	CCU	HCU	
Opening balance in 2002 CCU	J				10,209		
2003 inflation of 56.9% (from	conversion factor 1.	.569)			5,809		
Opening balance in 2003 CCU	J				16,018	6,558	
Produced:	х	х					
Total period production			70,340	see E.VI.4	95,028	24,688	
Less: Closing balance*							
Labour, utilities and							
services (46,0%)	2.1(1.7+0.4)	End Oct 2003	4,623	1.079	4,988	365	
Raw materials (46.1%)	3.7 (1.7+0.4+1.6)	Mid Sept 2003	4,633	1.153	5,342	709	
Depreciation (5.1%)**			513	1.743	894	381	
Overhead materials (2.8%)	5.3 (1.7+0.4+3.2)	Mid July 2003	281	1.249	351	70	
Closing balance of finished go	ods ( <b>B.III.1</b> ) – total (	100%)	10,050		11,575	1,525	I
Cost of Goods Sold			69,750		99,471	29,721	m

\*The structure of expenditures incurred (presented in **B.III.2**) was used to approximate the weights of components of finished goods balance. Some accounting systems do not provide sufficient breakdown of WIP and finished goods, therefore, need to be approximated (see E.VI.4 for WIP approximation).

\*\*Depreciation included into finished goods balance was approximated based on the percentage increase in the CCU depreciation charge and the HCU depreciation charge. The percentage increase over the HCU depreciation charge was calculated as follows:

	2002	2003
(a) Restated depreciation charge	4,045	6,346
(b) Historical depreciation charge	3,640	3,640
Conversion factor (a)/(b)	1.111	1.743

E.VI.6: Restated Inventories – Sun	nmary (E.VI.2	– E.VI.5)		
31	December		Utilised/	31 December
(all amounts expressed in CCU)	2002	Receipts	sold	2003
Raw materials	5,755	44,250	44,371	5,634
Sundry supplies	588	3,015	2,785	818
Work in progress	3,022	95,511	95,028	3,505
Finished stock	16,018	95,028	99,471	11,575
	25,383			21,532

#### E.VI Restatement of Inventories and Cost of Goods Sold – *continued*

E.VI.7 Inventory Restatement Overall Adjustr	nent				
The adjustment is recorded in <b>E.XII</b> as <b>ADJ 5</b> .					
Inventories	Dr		2,122		b+e+g+l
Cost of goods sold	Dr		29,721		m
Temporary holding account (Current period expenses)*		Cr		(2,706)	f
Retained earnings – opening balance		Cr		(1,008)	a+d+h+k
		-	31,843	(3,714)	
Net monetary gain		Cr		(28,129)	
		-	31,843	(31,843)	
		-		-	

\*A temporary holding account was used to hold the historical depreciation of the current period when it was eliminated at a previous stage in this example (see section E.II). This holding account also ensures that the restated depreciation is allocated properly between inventories and cost of goods sold.

### E.VII: Restatement of deferred income – government grant

	HCU	Conversion		
	HCU	factor		CCU –
	( <b>B.V.1</b> )	(C.II,C.III)	CCU	HCU
Balance at 31 December 2002	3,200			
<ul> <li>– at 31 December 2002 purchasing power*</li> </ul>		3.791	12,131	8,931 <b>a</b>
<ul> <li>– at 31 December 2003 purchasing power*</li> </ul>		5.948	19,034	15,834 <b>b</b>
Current period amortisation (in 2003 CCU)	(400)	5.948	(2,379)	(1,979) <b>c</b>
Balance at 31 December 2003	2,800		16,655	13,855 d=b+c
IAS 29 adjustment entry (recorded in E.XII as ADJ	9):			
Retained earnings – opening balance	Dr	8,931		a
Net monetary gain	Dr	6,903		b–a
Amortisation of government grant		Cr	(1,979)	С
Deferred income – grant		Cr	(13,855)	d
-		15,834	(15,834)	
*Conversion factor from end of June 2000				

E.VIII Restatement of Revenue and Expenses

Calculated by multiplying the historical monthly/quarterly HCU (see B.VI) by the average conversion factors
for that month/quarter (see C.IV) except for current tax which used the conversion factors from the month end
(based on conditions summarised in section B.VI).

For examp	ole, January rev	venue: 5,750>	(1.542=8,8	867; IV quar	ter tax: 374	4x1.000=3	874.		
	Average	Restated i	ncome sta	tement iten	<b>ns</b> (all amo	ounts expre	essed in C	CU)	
	conversion		General	and admin e	expenses	Foreig	n exchang	e	
	factor	Revenue	Wages	Rent	Other	gain	loss	Current tax	
January	1.542	(8,867)		359		(191)	1,687		
February	1.491	(9,311)		347		(73)	289		
March	1.438	(11,418)		336		(150)	2,030		
l quarter	1.490	(29,596)	2,201	1,042	2,321	(414)	4,006	378	
April	1.374	(10,271)		320		(284)	2,531		
May	1.318	(12,192)		307		(216)	2,088		
June	1.285	(12,040)		301		(155)	1,921		
ll quarter	1.326	(34,503)	1,997	928	2,547	(655)	6,540	758	
July	1.249	(13,926)		291		(136)	1,647		
August	1.205	(12,189)		281		(136)	1,248		
September	1.153	(10,902)		270		(30)	1,795		
III quarter	1.202	(37,017)	2,285	842	2,720	(302)	4,690	25	
October	1.099	(10,957)		330		(93)	526		
November	1.059	(9,372)		318		(107)	922		
December	· 1.019	(8,845)		306		(180)	1,138		
IV quarter	1.059	(29,174)	2,241	954	2,391	(380)	2,586	374	
		(130,290)	8,724	3,766	9,979	(1,751)	17,822	1,535	Н
	]	(26.040)	1 724	766	1 979	(371)	3 822	335	A
200 1100	ر د	(20,010)	1,7 - 1	, 00	1,575	(371)	5,022	555	· * *

CCU-HCU	(26,040)	1,724	766	1,979	(371)	3,822	33

Adjusting entries (recorded in E.XII as ADJ 14):

			Monetary		
			effect	Expenses	Income
Net monetary gain	Dr		26,040		
Revenue		Cr			(26,040)
Wages and salaries	Dr			1,724	
Net monetary gain		Cr	(1,724)		
Rent expense	Dr			766	
Net monetary gain		Cr	(766)		
Other administrative expenses		Dr		1,979	
Net monetary gain		Cr	(1,979)		
Net exchange transaction losse	s	Dr		3,451	
Net monetary gain		Cr	(3,451)		
Net monetary gain	Dr		205		
Interest income		Cr			(205)
Interest expense	Dr			538	
Net monetary gain		Cr	(538)		
Tax	Dr				335
Net monetary gain		Cr	(335)		
Represents the total result from	inflatin	g all			
income statement items			17,452		(17,452)
					( . , ,

Note: Income interest and expense were restated using the yearly average because interest expense is a stable periodic expense and income interest is not-material.

E.IX Restatement of Equity Components and Movements

E.IX.1: Restatement of paid-in share cap	oital			
1) Restatement of the opening balance to	31 December 200	2 purchasing powe	er	
Date of contribution / conversion	C	onversion factor		
factor used	HCU	(from C.II)	CCU	CCU-HCU
23 Jan' 2000/End Jan'2000	6,400	4.965	31,776	
30 Jun' 2000/End Jun'2000	3,600	3.791	13,648	
5 Dec' 2002/End Nov'2002	7,000	1.025	7,175	
Balance at 31 December 2002	17,000		52,599	35,599 a

### 2) Restatement of the opening balance to 31 December 2003 purchasing power

Date of contribution / conversion		Conversion factor			
factor used	HCU	(from C.III)	CCL	J CCU–HCU	
23 Jan' 2000/End Jan'2000	6,400	7.790	49,856	ő	
30 Jun' 2000/End Jun'2000	3,600	5.948	21,413	3	
5 Dec' 2002/End Nov'2002	7,000	1.608	11,256	ó	
Balance at 31 December 2002	17,000		82,525	5 65,525	
24 Sep' 2003/End Sep'2003	5,000	1.120	5,600	0 600	
Balance at 31 December 2003	22,000		88,125	5 66,125	b
3) IAS 29 adjustment entry (recorded in I	E.XII as ADJ 10)				
Retained earnings – opening balance	Dr	35,599		a	
Net monetary gain	Dr	30,526		b-a	
Share capital	Cr		(66,125)	b	
		66,125	(66,125)		

Date of contribution / conversion		Conversion factor			
factor used	HCU	(from C.III)	CCU	CCU-HCU	
Accrued (i.e. retained earnings movement):					
June'2003	5,000	1.274	6,370	1,370	a
Paid (i.e. cash flow):					
November'2003	5,000	1.039	5,195	195	H.III
Monetary gain on delay in dividends payme	ent		1,175	1,175	
IAS 29 adjustment entry (recorded in E.XII a	as ADJ 11):				
Dividends accrued	Dr	1,370	a		
Net monetary gain	Cr		(1,370) <b>a</b>		

Chapter 7 – Illustrative example of IAS 29 E. Restatement Procedures

E.IX Restatement of Equity Components and Movements – *continued* 

E.IX.3: Reversal of statutory reval	uatior	n of p	oroperty,	plant and	equipment
1) Reversal of 2003 year end statu	tory re	evalu	ation (rec	orded in E	.XII as ADJ 1a)
Revaluation reserve	Dr		9,027		
Fixed assets		Cr		(9,027)	
2) Reversal of prior years statutory	revalu	uatio	n for PPE	cost (recor	ded in <b>E.XII</b> as <b>ADJ 1b</b> )
Revaluation reserve	Dr		45,300		The opening balance of revaluation reserve
Property, plant and equipment		Cr		(43,200)	For surplus on gross book value of property, plant and equipment at 31 December 2003
Gain on disposal of property, plant and equipment	Cr			(2,100)	Surplus on gross book value of the disposal
			45,300	(45,300)	
3) Reconciliation of revaluation re	serve	adju	stments		
Revaluation reserve at 31 Decemb	per 20	03			(47,157)
Less: A	DJ 1a				9,027
A	DJ 1b				45,300
Revaluation reserve debit related t	o reva	luati	on of acc	umulated	
depreciation to be reversed within	statut	tory o	lepreciati	on reversa	l (See E.II) 7,170

### E.X: Deferred Tax Calculations

	IAS carrying		Temporary	Deferred tax	
	value	Tax Base	difference	asset/ (liability)	
	А	В	B-A	(B-A)*30%	
At 31 December 2002					
Property, plant and equipment	43,166	43,337	171	51	
Investment in associate	16,320	16,000	(320)	(96)	
Other long-term investments	23,500	10,000	(13,500)	(4,050)	
Inventories	16,178	15,170	(1,008)	(302)	
Trading investments	5,000	5,000	_		
Opening deferred tax (net) in 31	December 2002	2 purchasing po	ower	(4,397)	а
2003 inflation of 56.9% (from cor	version factor 1	.569)		(2,502)	С
Opening deferred tax (net) in 31	December 200	3 purchasing p	ower	(6,899)	
At 31 December 2003					
Property, plant and equipment	67,950	54,163	(13,787)	(4,136)	
Investment in associate	35,630	16,000	(19,630)	(5,889)	
Other long-term investments	41,000	11,000	(30,000)	(9,000)	
Inventories	21,532	19,410	(2,122)	(637)	
Trading investments	15,000	15,000	-		
Deferred tax (net) at 31 December	er 2003			(19,662)	b
Deferred tax charge for the curre	ent period			(12,763)	b–(a+c)
Within deferred tax amount the	following is cha	rged through f	air value reserv	/e:	
	IAS carrying		Temporary	Deferred tax	
	value	IAS Cost	difference	asset/ (liability)	
	А	В	B-A	(B-A)*30%	
At 31 December 2002					
Other long-term investments	23,500	24,770	1,270	381	f
Opening deferred tax charge to f	air value reserv	e in 31 Decem	ber 2002 purch	nasing power 381	g
2003 inflation of 56.9% (from cor	version factor 1	.569)		217	
Opening deferred tax charge to fa	air value reserv	e in 31 Decemk	oer 2003 purch	asing power 598	
· · · · · · · · · · · · · · · · · · ·					
At 31 December 2003					
At 31 December 2003 Other long-term investments	41,000	40,274	(726)	(218)	d
At 31 December 2003 Other long-term investments Deferred tax charge to fair value	41,000 reserve at 31 D	40,274 ecember 2003	(726)	(218) (218)	d
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value	41,000 reserve at 31 D reserve for the	40,274 ecember 2003 current period	(726)	(218) (218) (816)	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the	41,000 reserve at 31 D reserve for the following is cha	40,274 ecember 2003 current period rged through t	(726) I ranslation rese	(218) (218) (816) rve:	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the	41,000 reserve at 31 D reserve for the following is cha Translation	40,274 ecember 2003 current period rged through t	(726) I ranslation rese Temporary	(218) (218) (816) rve: Deferred tax	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the	41,000 reserve at 31 D reserve for the following is cha Translation reserve value	40,274 ecember 2003 current period rged through t Tax Base	(726) I ranslation rese Temporary difference	(218) (218) (816) rve: Deferred tax asset/ (liability)	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the s	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A	40,274 ecember 2003 current period rged through t Tax Base B	(726) I ranslation rese Temporary difference B–A	(218) (218) (816) rve: Deferred tax asset/ (liability) (B–A)*30%	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the to At 31 December 2002	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A	40,274 ecember 2003 current period rged through t Tax Base B	(726) I ranslation rese Temporary difference B–A	(218) (218) (816) rve: Deferred tax asset/ (liability) (B–A)*30%	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the to At 31 December 2002 Investment in associate	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0	40,274 ecember 2003 current period rged through t Tax Base B 0	(726) ranslation rese Temporary difference B–A 0	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30%	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the to At 31 December 2002 Investment in associate Opening deferred tax charge to the	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 rranslation rese	40,274 ecember 2003 current period rged through t Tax Base B 0 rve in 31 Decer	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the f At 31 December 2002 Investment in associate Opening deferred tax charge to the power	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 cranslation rese	40,274 ecember 2003 current period rged through t Tax Base B 0 rve in 31 Decer	(726) ranslation rese Temporary difference B-A 0 mber 2002 pure	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the rest At 31 December 2002 Investment in associate Opening deferred tax charge to the power 2003 inflation of 56.9% (from cor	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 cranslation rese	40,274 ecember 2003 current period rged through t Tax Base B 0 rve in 31 Decer .569)	(726) ranslation rese Temporary difference B-A 0 mber 2002 pure	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the to At 31 December 2002 Investment in associate Opening deferred tax charge to to power 2003 inflation of 56.9% (from cor Opening deferred tax charge to to	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 rranslation rese wersion factor 1 translation rese	40,274 ecember 2003 current period rged through t Tax Base B 0 rve in 31 Decer .569) rve in 31 Decer	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 0 chasing power 0	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the f At 31 December 2002 Investment in associate Opening deferred tax charge to f power 2003 inflation of 56.9% (from cor Opening deferred tax charge to f At 31 December 2003	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 cranslation rese	40,274 ecember 2003 current period rged through t Tax Base B 0 rve in 31 Decer .569) rve in 31 Decer	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 0 chasing power 0	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the f At 31 December 2002 Investment in associate Opening deferred tax charge to the power 2003 inflation of 56.9% (from cort Opening deferred tax charge to the At 31 December 2003 Investment in associate	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 cranslation rese aversion factor 1 translation rese 2,029	40,274 ecember 2003 current period rged through t Tax Base B 0 rve in 31 Decen .569) rve in 31 Decen	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur mber 2003 pur (2,029)	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 chasing power 0 (609)	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the f At 31 December 2002 Investment in associate Opening deferred tax charge to the power 2003 inflation of 56.9% (from cort Opening deferred tax charge to the At 31 December 2003 Investment in associate Deferred tax charge to translatio	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 cranslation rese wersion factor 1 ranslation rese 2,029 n reserve at 31	40,274 ecember 2003 current period rged through t Tax Base B 0 rve in 31 Decen .569) rve in 31 Decen 0 December 200	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur mber 2003 pur (2,029) 3	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 chasing power 0 (609) (609)	d e
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the f At 31 December 2002 Investment in associate Opening deferred tax charge to the power 2003 inflation of 56.9% (from cort Opening deferred tax charge to the At 31 December 2003 Investment in associate Deferred tax charge to translation Deferred tax charge to translation Deferred tax charge to translation	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 rranslation rese version factor 1 rranslation rese 2,029 n reserve at 31 reserve for the o od in EXIL as A	40,274 ecember 2003 current period rged through t Tax Base B o rve in 31 Decen .569) rve in 31 Decen 0 December 200 current period	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur mber 2003 pur (2,029) 3	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 chasing power 0 (609) (609)	d e h
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the to At 31 December 2002 Investment in associate Opening deferred tax charge to the power 2003 inflation of 56.9% (from cort Opening deferred tax charge to the At 31 December 2003 Investment in associate Deferred tax charge to translation Deferred tax charge to translation Deferred tax charge to translation Deferred tax accrual entry (record	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 cranslation rese version factor 1 cranslation rese 2,029 n reserve at 31 reserve for the o ed in E.XII as A	40,274 ecember 2003 current period rged through t Tax Base B orve in 31 Decen .569) rve in 31 Decen 0 December 200 current period DJ 12):	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur (2,029) 3 4 778	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 chasing power 0 (609) (609) (609)	d e j
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the the At 31 December 2002 Investment in associate Opening deferred tax charge to the power 2003 inflation of 56.9% (from corr Opening deferred tax charge to the At 31 December 2003 Investment in associate Deferred tax charge to translation Deferred tax charge to translation Deferred tax charge to translation Deferred tax charge to translation Deferred tax accrual entry (record Retained earning - opening balance	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 rranslation rese 2,029 n reserve at 31 reserve for the o ed in E.XII as Al ce Dr	40,274 ecember 2003 current period rged through t Tax Base B orve in 31 Decen .569) rve in 31 Decen 0 December 200 current period DJ 12):	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur (2,029) 3 4,778 600	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 chasing power 0 (609) (609) (609) (609)	d e j
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the f At 31 December 2002 Investment in associate Opening deferred tax charge to the power 2003 inflation of 56.9% (from cort Opening deferred tax charge to the At 31 December 2003 Investment in associate Deferred tax charge to translation Deferred tax charge to translation Deferred tax charge to translation Deferred tax charge to translation Deferred tax accrual entry (record Retained earning - opening balance Translation reserve Eair value record	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 rranslation rese version factor 1 rranslation rese 2,029 n reserve at 31 reserve for the ed in E.XII as Al ce Dr Dr	40,274 ecember 2003 current period rged through t Tax Base B 0 rve in 31 Decen .569) rve in 31 Decen 0 December 200 current period DJ 12):	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur (2,029) 3 4,778 609 218	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 chasing power 0 (609) (609) (609) (609) (609)	d e j
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the f At 31 December 2002 Investment in associate Opening deferred tax charge to the power 2003 inflation of 56.9% (from cort Opening deferred tax charge to the At 31 December 2003 Investment in associate Deferred tax charge to translation Deferred tax charge to translation Translation reserve Fair value reserve Not monetary gain	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 rranslation rese version factor 1 rranslation rese 2,029 n reserve at 31 reserve for the ed in E.XII as Al ce Dr Dr Dr	40,274 ecember 2003 current period rged through t Tax Base B 0 rve in 31 Decen .569) rve in 31 Decen 0 December 200 current period DJ 12):	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur (2,029) 3 4,778 609 218 2,719	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 chasing power 0 (609) (609) (609) (609) (609)	d e j
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the f At 31 December 2002 Investment in associate Opening deferred tax charge to the power 2003 inflation of 56.9% (from cort Opening deferred tax charge to the At 31 December 2003 Investment in associate Deferred tax charge to translation Deferred tax charge to translation Deferred tax charge to translation Deferred tax accrual entry (record Retained earning - opening baland Translation reserve Net monetary gain Investment associate	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 rranslation rese version factor 1 rranslation rese 2,029 n reserve at 31 reserve for the ed in E.XII as Al ce Dr Dr Dr Dr	40,274 ecember 2003 current period rged through t Tax Base B 0 rve in 31 Decen .569) rve in 31 Decen 0 December 200 current period DJ 12):	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur (2,029) 3 4,778 609 218 2,719 1 228	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 chasing power 0 (609) (609) (609) (609) (609) (609)	d e h j
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the f At 31 December 2002 Investment in associate Opening deferred tax charge to the power 2003 inflation of 56.9% (from cort Opening deferred tax charge to the At 31 December 2003 Investment in associate Deferred tax charge to translation Deferred tax charge to translation	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 rranslation rese version factor 1 ranslation rese 2,029 n reserve at 31 reserve for the ed in E.XII as Al ce Dr Dr Dr Dr Dr Dr	40,274 ecember 2003 current period rged through t Tax Base B 0 rve in 31 Decen .569) rve in 31 Decen 0 December 200 current period DJ 12):	(726) ranslation rese Temporary difference B–A 0 mber 2002 pur (2,029) 3 4,778 609 218 2,719 1,338	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 chasing power 0 (609) (609) (609) (609) (609) (609) (609) (609)	d e h j
At 31 December 2003 Other long-term investments Deferred tax charge to fair value Deferred tax charge to fair value Within deferred tax amount the f At 31 December 2002 Investment in associate Opening deferred tax charge to the power 2003 inflation of 56.9% (from cort Opening deferred tax charge to the At 31 December 2003 Investment in associate Deferred tax charge to translation Deferred tax charge to translation	41,000 reserve at 31 D reserve for the following is cha Translation reserve value A 0 reanslation rese version factor 1 ranslation rese 2,029 n reserve at 31 reserve for the ced in E.XII as Al ce Dr Dr Dr Dr Dr Dr Dr Dr	40,274 ecember 2003 current period rged through t Tax Base B orve in 31 Decen .569) rve in 31 Decen 0 December 200 current period DJ 12):	(726) ranslation rese Temporary difference B–A 0 mber 2002 pure (2,029) 3 4,778 609 218 2,719 1,338 (1 0,662 (1)	(218) (218) (816) rve: Deferred tax asset/ (liability) (B-A)*30% 0 chasing 0 0 chasing power 0 (609) (600) (	d e j

### E.XI Current Year Inflation Adjustment to Opening Retained Earnings

Description		Currency unit	s Source
Opening historical retained earnings, HC	CU	20,69	7 A.I
Add: Sum of all prior year adjustments to	opening retained	ł	
earnings from adjustment schedule		4,42	E.XII (ADJ1–ADJ–14)
Opening retained earnings in 2002 CCU		25,12	5 E.XII (Subtotal)
2003 inflation of 56.9% (from conversion	n factor 1.569)	14,29	7 C.I
Opening retained earnings in 2003 CCU		39,42	}
Opening retained earnings adjusting entr Net monetary gain Retained earnings – opening balance	y (recorded in <b>E.)</b> Dr	<b>(II</b> as <b>ADJ 15</b> ): 14,29 Cr	7 (14,297)

Practical example of IAS 29 Restatement of the income statemen

E.XII Summary Schedule of Inflation Adjustments Journal Entries

Balance Sheet (Inc. Retained Earnings Reconciliation)	Historical 31-Dec-2003 re	ADJ 1a Reversal of 2003 evaluation	ADJ 1b Reversal of p/y cost revaluation	ADJ 2 Reversal of statutory dep-n	ADJ 3 Fixed assets restatement	ADJ 4 Dep–n in 2003 PP	ADJ 5 Inventories and CoS restatement	ADJ 6 Associate restatement	ADJ 7 Long-term investment IAS29&IAS39	ADJ 8 Trading investments (P&L effect)	ADJ 9 Deferred income restatement	ADJ 10 Share capital estatement	ADJ 11 Dividends declared restatement	ADJ 12 Deferred income tax	<b>ADJ 13</b> Bad Debt Charge	ADJ 14 Other P&L items restatement	Subtotal Opening retained earnings in 2002 CCU	ADJ 15 Retained earnings b/f 3 restatement	Restated 1-Dec-2003	Balance Sheet (Inc. Retained Earnings Reconciliation)
Assets																				Assets
Non-current assets Property_plant and equipment	54 163	(9.027)	(43,200)	20 864	76 768	(31.618)	_	_	_	_	_	_	_	_	_	_	67 950	_	67 950	Non-current assets Property_plant and equipment
Investment in associate	35,630	(5,027)	(13,200)	- 20,004	-	(31,010)	-	0	-	-	-	-	-	-	_	-	35,630	-	35,630	Investment in associate
Other long-term investments	11,000	-	-	-	-	-	-	-	30,000	-	-	-	-	-	-	-	41,000	-	41,000	Available-for-sale investments
Current assets	100,793	(9,027)	(43,200)	20,864	/6,/68	(31,618)	0	0	30,000	0	0	0	0	0	0	0	144,580	0	144,580	Current assets
Inventories	19,410	_	-	-	-	-	2,122	-	-	-	-	-	-	-	-	-	21,532	-	21,532	Inventories
Trade accounts receivable	28,170	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	28,170	-	28,170	Trade accounts receivable
Other receivables	1,500	_	_	_	_	_	_	_	-	- 0	-	-	_	_	_	_	1,500	_	1,500	Other receivables Trading investments
Cash	9,742	_	_	_	_	_	_	_	_	-	_	_	_	_	_	_	9,742	_	9,742	Cash
<b>T</b> ( <b>1</b> )	73,822	0	0	0	0	0	2,122	0	0	0	0	0	0	0	0	0	75,944	0	75,944	I .
l otal assets	1/4,615	(9,027)	(43,200)	20,864	/6,/68	(31,618)	2,122	0	30,000	0	0	0	0	0	0	0	220,524	0	220,524	l otal assets
Liabilities and Equity Capital and reserves Share capital	(22,000)	-	45 200	(7.170)	_	_	_	-	_	_	_	(66,125)	-	_	_	-	(88,125)	-	(88,125)	Liabilities and Equity Capital and reserves Share capital
Revaluation reserve	(47,137)	9,027	43,300	(7,170)	_	_	_	_	(726)	-	-	_	_	218	_	_	(508)	_	(508)	Fair value reserve
Translation reserve	(13,010)	-	-	-	-	-	-	10,981	_	-	-	-	-	609	-	-	(1,420)	-	(1,420)	Translation reserve
Retained earnings – opening	(20,697)	-	(2 100)	(8,093)	(44,524)	14,658	(1,008)	(10.091)	(14,770)	-	8,931	35,599	(1 2 70)	4,778	-	-	(25,126)	(14,297)	(39,423)	Retained earnings – opening
Dividends declared, 2003	5,000	-	(2,100)	(5,601)	(32,244)	10,900	(1,114)	(10,901)	(14,504)	0	4,924	50,526	1,370	14,037	0	0	(0,070)	14,297	6,219	Dividends declared, 2003
Retained earnings – closing	(22,328)	0	(2,100)	(13,694)	(76,768)	31,618	(2,122)	(10,981)	(29,274)	0	13,855	66,125	0	18,835	0	0	(26,834)	0	(26,834)	Retained earnings - closing
	(104,495)	9,027	43,200	(20,864)	(76,768)	31,618	(2,122)	0	(30,000)	0	13,855	0	0	19,662	0	0	(116,887)	0	(116,887)	
Non-current liabilities																				Non-current liabilities
Deferred income – grant	(2,800)	-	-	-	-	-	-	-	-	-	(13,855)	-	-	-	-	-	(16,655)	-	(16,655)	Deferred income – grant
Borrowings	(29,000)	-	-	-	-	-	-	-	-	-	-	-	-	(10.662)	-	-	(29,000)	-	(29,000)	Borrowings
Deletted tax habilities	(31,800)	0	0	0	0	0	0	0	0	0	(13,855)	0	0	(19,662)	0	0	(65,317)	0	(65,317)	Deletted tax habilities
Current liabilities																				Current liabilities
Bank overdrafts	(8,060)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	(8,060)	-	(8,060)	Bank overdrafts
Other payables	(5,500)	_	_	_	_	_	_	-	-	-	-	_	-	-	_	_	(5,500)	_	(5,500)	Other payables
	(38,320)	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	(38,320)	0	(38,320)	
l otal liabilities and equity	(1/4,615)	9,027	43,200	(20,864)	(/6,/68)	31,618	(2,122)	0	(30,000)	0	0	0	0	0	0	0	(220,524)	0	(220,524)	l otal liabilities and equity
Check $(Dr - Cr)$ to be nil	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Check (Dr – Cr) to be nil
Income Statement	2003																		2003	Income Statement
Sales Cost of sales	(104,250)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	(26,040)	(130,290)	-	(130,290)	Sales Cost of sales
(Temporary holding account)	- 69,750	_	_	(3,640)	_	6,346	(2,706)	_	-	_	-	_	_	_	_	_	99,471	_	99,471	Cost of sales
Gross Profit General and administrative:	(34,500)	0	0	(3,640)	0	6,346	27,015	0	0	0	0	0	0	0	0	(26,040)	(30,819)	0	(30,819)	Gross Profit General and administrative:
Wages	7,000	-	-	(2,447)	-	4 501	-	-	-	-	-	-	-	-	-	1,724	8,724	-	8,724	Wages
Rent expense	3,447	_	-	(3,447)	-	4,501	-	_	-	-	-	_	-		-	- 766	4,501	-	4,501	Rent expense
Bad debt charge	2,450	-	-	-	-	-	-	-	-	-	-	-	-	-	0	-	2,450	-	2,450	Bad debt charge
Other administrative expenses	8,000	-	-	-	-	-	-	-	-	-	(1.070)	-	-	-	-	1,979	9,979	-	9,979	Other administrative expenses
Profit on sale of PPE	(400)	_	(2,100)	1.486	3,395	(2,226)	_	_	-	-	(1,979)	_	_	_	_	_	(2,379)	_	(2,379)	Profit on sale of PPE
Operating profit	(11,389)	0	(2,100)	(5,601)	3,395	8,621	27,015	0	0	0	(1,979)	0	0	0	0	(21,571)	(3,609)	0	(3,609)	Operating profit
Share of result of associate	(6,300)	-	-	-	-	-	-	(1,695)	-	-	-	-	-	-	-	-	(7,995)	-	(7,995)	Share of result of associate
Gain on trading investments	(4.000)	_	_	_	_	_	_	-	-	5.305	-	_	_	_	_	_	1.305	_	1.305	Loss on trading investments
Interest income	(762)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	(205)	(967)	-	(967)	Interest income
Interest expense	2,000	-	-	-	-	-	-	-	-	-	-	-	-	-	-	538	2,538	-	2,538	Interest expense
Net monetary (gain)	12,620	_	_	_	(35.639)	8.339	(28,129)	(9.286)	(14.504)	(5.305)	6.903	30.526	(1.370)	2.719	- 0	5,451 17.452	(28.294)		(13.997)	Net monetary (gain)
Profit before tax	(7,831)	0	(2,100)	(5,601)	(32,244)	16,960	(1,114)	(10,981)	(14,504)	0	4,924	30,526	(1,370)	2,719	0	(335)	(20,951)	14,297	(6,654)	Profit before tax
Tax Net (income)/loss (included to line	1,200							-	-	-	-	-	-	11,338	-	335	12,873	-	12,873	Tax Net (income)/loss (included to line
'income statement, 2003' as above)	(6,631)	0	(2,100)	(5,601)	(32,244)	16,960	(1,114)	(10,981)	(14,504)	0	4,924	30,526	(1,370)	14,057	0	-0	(8,078)	14,297	6,219	'Income statement, 2003' as above)
Working papers reference	A.I, A.II, A.IV	E.IX.3.1	E.IX.3.2	E.II.7i	E.II.7ii	E.II.7iii	E.VI.7	E.III	E.IV	E.V	E.VII	E.IX.1	E.IX.2	E.X	G.III Should	E.VIII be always nil		E.IX H	I.I, H.II, H.IV	Working papers reference

F.I. Monetary Proof based on average quarterly net monetary position

The difference between the theoretical monetary gain and the monetary gain which resulted from the restatement procedures is not significantly different (i.e. 2.7%). Thus, this is proof that the monetary gain is reasonable.

	31–Dec	31–Mar	30–Jun	30–Sep	31–Dec
	2002	2003	2003	2003	2003
Conversion factors from each date to					
31 December 2003	1.569	1.410	1.274	1.120	1.000
Inflation for the year (1.569 – 1.000)					0.569
<b>a</b> Inflation for the year split					
per quarter*		0.159	0.136	0.154	0.120
Net monetary position, HCU (B.VIII)	(10,800)	(21,195)	(31,042)	(25,341)	(27,908)
<b>b</b> Quarter average monetary position		(15,998)	(26,119)	(28,192)	(26,625)
Theoretical monetary gain for each					
quarter (a x b)		2,544	3,552	4,342	3,195
Theoretical monetary gain for the year					
(sum of monetary gain per quarter)					13,633
Monetary gain as a result of the					
restatement procedure					13,997
% of variation					2.7%

### G.I: Restatement of revenues collected

	HCU,	Conversion		
Month	( <b>B.VII.3</b> )	factor ( <b>C.IV</b> )	CCU	
Jan	7,340	1.542	11,318	
Feb	8,740	1.491	13,031	
Mar	8,160	1.438	11,734	
Apr	7,420	1.374	10,195	
May	8,030	1.318	10,584	
Jun	7,330	1.285	9,419	
Jul	6,720	1.249	8,393	
Aug	7,720	1.205	9,303	
Sep	8,240	1.153	9,501	
Oct	7,730	1.099	8,495	
Nov	8,220	1.059	8,705	
Dec	8,760	1.019	8,926	
	94,410		119,604	H.III

	G.II: Rest	atement of ope	rating outf	lows
	HCU, ( <b>B.VII.3</b> )	Conversion factor ( <b>C.IV</b> )	CCU	
G.II.1: Raw materials				
L guarter	4.477	1.490	6.671	
II. quarter	3.923	1.326	5.202	
III. guarter	4.651	1.202	5.591	
IV. guarter	5.433	1.059	5.754	
	18,484		23,218	H.III
G.II.2: Wages, utilities, overheads				
I. guarter	10,810	1.490	16,107	
II. quarter	12,373	1.326	16,407	
III. guarter	14,692	1.202	17,660	
IV. guarter	15,511	1.059	16,426	
	53,386		66,600	H.III
G.II.3: Restatement of rent payments				
	HCU, Conversion			
Paid ( <b>B.VII.5</b> )	( <b>B.VII.3</b> )	factor (C.IV)	CCU	
27 March	700	1.410	987	
29 June	700	1.274	892	
17 September	900	1.153	1,038	
25 December	900	1.000	900	
	3,200		3,817	H.III
G.II.4: Restatement of income tax paid				
Performed based on the quarterly tax accruals and dates	due:			
	HCU,	Conversion		
Paid ( <b>B.VII.2</b> )	( <b>B.VII.3</b> )	factor (C.IV)	CCU	

	HCU,	Conversion		
Paid (B.VII.2)	( <b>B.VII.3</b> )	factor (C.IV)	CCU	
End of January	153	1.515	232	
End of March	254	1.339	340	
End of July	572	1.225	701	
End of October	21	1.079	23	
	1,000		1,296	H.III

G.III: Trade accounts receivable and bad debt expense

As provision for bad debt is a monetary item, it results in monetary gain (which is offset by the monetary loss created by holding the related receivables). The inflation effect on the opening bad debt provision is a reconciling item in the inderect cash flow statement as this is a non cash item not shown as a change in working capital.

	HCU	CCU	
Opening bad debt provision	(3,250)	(5,099)	
Bad debt expense for the year	(2,450)	(2,450)	
Less: Closing bad debt provision	5,700	5,700	
Difference – inflation effect on related bad debt provision	-	(1,849) <b>H.I</b>	П

Note: Bad debt expense for the year was considered to be in 31 December 2003 purchasing power as the Company only reassesses its bad debt provision once a year at the reporting date which is the year-end.

#### G.IV: Inflation effect

#### G.IV.1: Calculation of inflationary effect on cash

		Source Inf			
	HCU	C.IV	CCU	effect	
Opening cash	5,750		9,022	3,272	
Net movement in cash per quarter:					
Quarter I	(5)	1.490	(7)	(2)	
Quarter II	2,001	1.326	2,653	652	
Quarter III	995	1.202	1,196	201	
Quarter IV	1,001	1.059	1,060	59	
Total inflation effect on cash				4,182	H.II

		Source		Inflation
	HCU	C.IV	CCU	effect
Opening bank overdrafts	5,200		8,159	2,959
Less: Closing cash	(8,060)		(8,060)	
Net increase(decrease) in bank overdrafts	2,860		(99)	
Including: I. quarter	722	1.490	1,076	
II. quarter	708	1.326	939	
III. quarter	(3,290)	1.202	(3,955)	
IV. quarter	4,720	1.059	4,998	
Net increase, restated at average inflation			3,058	198
Monetary gain on bank overdrafts				3,157

G.IV.3: Calculation of inflationary effect on borrowing	S HCU			
Opening borrowings	15,000		23,535	
Increase due to foreign exchange loss ( <b>B.VI</b> )	14,000	E.VIII	17,822	
Less: Closing cash	(29,000)		(29,000)	
Reductions of borrowings (due to inflation)	0		12,357	H.II

#### G.IV: Inflation effect – *continued*

#### G.IV.4: Inflation effect on financing activities and total for non-operating activities and tax

Inflation effect on financing activities is calculated as the difference between the restated opening and closing balances of bank overdrafts and borrowings.

Inflation effect on non-operating activities also includes the inflation effect on dividends, interest, inflation effect on investing activities and cash itself.

		Inflation effect	
Monetary gain on bank overdrafts	G.IV.2	3,157	
Reductions of borrowings (due to inflation)	G.IV.3	12,357	
Inflation effect on financing activities – gain		15,514	H.III
Inflation effect on dividends – gain	E.IX.2	1,175	
Inflation effect on interest payable – gain	G.V	112	
Inflation effect on interest receivable – loss	G.V	(161)	
Inflation effect on cash – loss	G.IV.1	(4,182)	
Inflation effect on non-operating activities		12,458	
Inflation effect on income tax – gain	G.V	126	
		12,584	H.III

### G.V: Other accounts receivable and payable

(all amounts expressed in HCU)	Total	Interest	Interest	Income	Other
(an amound expressed in Free)	Total	income	expense	tax	operating
Other receivables			•		
Closing balance	1,500	600			900
Opening balance	1,000	-			1,000
Increase/(decrease) in other receivables	500	600			(100)
Other payables					
Closing balance	(5,500)		(190)	(353)	(4,957)
Opening balance	(6,000)		(60)	(153)	(5,787)
(Increase)/decrease in other payables	500		(130)	(200)	830
(all amounts expressed in HCU)	Total	Interest	Interest	Income	Other
Other operating		income	expense	tax	operating
Other receivables					
Closing balance	1,500	600			900
Opening balance in 2003 CCU*	1,569	-			1,569
Increase/(decrease) in other receivables	(69)	600			(669)
Other payables					
Closing balance	(5,500)		(190)	(353)	(4,957)
Opening balance in 2003 CCU*	(9,414)		(94)	(240)	(9,080)
(Increase)/decrease in other payables	3,914		(96)	(113)	4,123
Amount accrued		967	(2,538)	(1,535)	
Amount paid		(206)	2,330**	1,296	
		1.6.1	(110)	(120)	

\*\*Interest expense paid within five days after each month end was restated using the average of month-end conversion factors for 2003.

#### H.I Restated Balance Sheets

(Historical information is presented here for convenience of the example and should not be included into the restated financial statements)

			Restated	l, 2003 C	CU		Historic	al, HCU	
Resta Pro	tement cedures	31 D	ecember	31 C	ecember	31 D	ecember	31 De	cember
		2003	2003	2002	2002	2003	2003	2002	2002
Assets									
Property, plant and equipment Investment in associated	E.II.7	67,950	1	67,726		54,163		43,337	
undertaking	E.III	35,630	)	25,606		35,630		16,320	
Available-for-sale investments	E.IV	41,000	1	36,872		11,000		10,000	
	-		144,580		130,204		100,793		69,657
Current assets									
Inventories	E.VI.6	21,532		25,383		19,410		15,170	
Trade accounts receivable	mon	28,170	)	30,439		28,170		19,400	
Other receivables	mon	1,500		1,569		1,500		1,000	
I rading investments	E.V	15,000		/,845		15,000		5,000	
Cash	mon	9,742		9,022		9,742		5,750	
			75,944		74,258		73,822		46,320
Total assets			220,524		204,462		174,615	1	15,977
Equity and Liabilities Capital and reserves									
Share capital	E.IX.1	88,125		82,525		22,000		17,000	
Revaluation reserve		-		-		47,157		38,130	
Translation reserve	E.III	1,420	)	-		13,010		-	
Fair value reserve	E.IV	508		(1,394)		-		-	
Retained earnings	E.IX.4	26,834		39,423		22,328		20,697	
	-		116,887		120,554		104,495		75,827
Non-current liabilities Deferred income – government									
grant	E.VII	16,655		19,034		2,800		3,200	
Borrowings	mon	29,000	)	23,535		29,000		15,000	
Deferred tax liabilities	E.X	19,662		6,899		-		-	
	-						31 800		18 200
Current liabilities			00,017		13,100		51,000		.0,200
Bank overdrafts	mon	8,060	)	8,159		8,060		5,200	
Trade payables	mon	24,760	)	16,867		24,760		10,750	
Other payables	mon	5,500	)	9,414		5,500		6,000	
	-		38,320		34,440		38,320		21,950
Total equity and liabilities			220,524		204,462		174,615	1	15,977
	h	1 · 1		1.		ı .			

Note: *mon* defines monetary balance sheet items which are already expressed in year end purchasing power and require no restatement.

Monetary items of prior year are adjusted by 1.569 to current year end purchasing power for comparative purposes as required by IAS 29.

H.II Restated Income Statement for the Year ended 31 December 2003

(Historical information is presented here for convenience of the example and should not be included into the restated financial statements)

Res Pr	statement rocedures	Rest 2003	ated, CCU	Histo H0	orical, CU
Sales Cost of sales	E.VI.5	130,290 (99,471)		(69,750)	104,250
Gross Profit			30,819		34,500
General and administrative expenses:					
Wages and salaries	E.VIII	(8,724)		(7,000)	
Depreciation expense	E.II.4	(4,501)		(3,447)	
Rent expense	E.VIII	(3,766)		(3,000)	
Bad debt expense	G.III	(2,450)		(2,450)	
Other administrative expenses	E.VIII	(9,979)		(8,000)	
Amortisation of government grant	E.VII	2,379		400	
Profit on sale of property, plant and					
equipment	E.II.5	(169)		386	
			(27,210)		(23,111)
Operating profit			3,609		11,389
Share of result of associate	E.III		7,995		6,300
Finance costs:					
(Loss)/Gain on trading investments	E.V	(1,305)		4,000	
Interest income	E.VIII	967		762	
Interest expense	E.VIII	(2,538)		(2,000)	
Net foreign exchange transaction losses	E.VIII	(16,071)		(12,620)	
Net monetary gain	E.XI	13,997			
			(4,950)		(9,858)
Profit before tax			6,654		7,831
Tax E	.VIII+E.X		(12,873)		(1,200)
Net (loss)/income			(6,219)		6,631

## H.III Restated Statement of Cash Flows for the Year Ended 31 December 2003

(Historical information is presented here the restated financial statements)	ere for conven	ience of the e	example and si	hould not be ii	ncluded inte
	Restatement Procedures	Restated, 2003 CCU		Historical, HCU	
Cash flows from operating activities:	:				
DIRECT METHOD (see Indirect reconciliation below)					
Cash receipts from customers	G.I	119,604		94,410	
Cash paid for production materials an	nd				
other supplies	G.II.1	(23,218)		(18,484)	
Cash paid to employees and for utiliti	es C II 2	((( ( 0 0)))		(52,296)	
and overneads	G.II.2	(66,600)		(53,386)	
Rent paid	G.II.3	(3,017)		(3,200)	
income tax paid	0.11.4	(1,296)		(1,000)	
Net cash from operating activities			24,673		18,340
Cash flows from investing activities:					
Purchase of trading investments, net	E.V	(8,460)		(6,000)	
Purchase of available-for-sale					
investments	E.IV	(1,410)		(1,000)	
Purchase of property, plant and	E II O	(12 740)		(10,000)	
equipment	E.II.2	(12,/40)		(10,000)	
Interest received	average	206		162	
Proceeds from sale of property, plant	E II 5	1 500		1 500	
	<b>L</b>				
Net cash used in investing activities			(20,904)		(15,338)
Cash flows from financing activities:					
Proceeds from paid in share capital	E.IX.1	5,600		5,000	
Reduction of bank overdrafts, net	G.IV.2	(99)		2,860	
Reduction of borrowings	G.IV.3	(12,357)		-	
Effect of inflation on financing activiti	es G.IV.4	15,514		-	
Interest paid	G.V	(2,330)		(1,870)	
Dividends paid	E.IX.2	(5,195)		(5,000)	
Net cash from financing activities			1,133		990
Inflation effect on cash	G.IV.1		(4,182)		
Net increase in cash			720		3,992
Cash at the beginning of the period			9 022		5,750

### H.III Restated Statement of Cash Flows for the Year Ended 31 December 2003 – *continued*

	Restatement Procedures	Restated, 2003 CCU		Historical, HCU	
Indirect method Cash flows from operating activities:	:				
Net (loss)/income	H.II	(6,219)		6,631	
Adjustments for:					
Tax	H.II	12,873		1,200	
Depreciation charge	E.II.3	10,847		7,087	
Bad debt expense	H.II	2,450		2,450	
Change in bad debt provision due					
to inflation	G.III	(1,849)		_	
Amortisation of government grant	H.II	(2,379)		(400)	
Loss/(profit) on sale of fixed assets	H.II	169		(386)	
Share of result of associate	H.II	(7,995)		(6,300)	
Decrease/(increase) in market value	e of				
trading investments	H.II	1,305		(4,000)	
Interest income	H.II	(967)		(762)	
Interest expense	H.II	2,538		2,000	
Foreign exchange loss on financing	5				
and investing activities	E.VIII	17,822		14,000	
Monetary effect on non-operating					
activities and income tax	G.IV.4	(12,584)			
Operating profit before changes in					
working capital:			16,011		21,520
Changes in working capital:					
Decrease/(increase) in trade accourt	nts				
receivable, gross		1,668		(11,220)	
Decrease/(increase) in inventory	H.I	3,851		(4,240)	
Decrease in other receivables	G.V	669		100	
Increase in trade payables	H.I	7,893		14,010	
Decrease in other payables	G.V	(4,123)		(830)	
			9,958		(2,180)
Cash generated from operations			25,969		19,340
Income tax paid			(1,296)		(1,000
Net cash from operating activities					
(same as for Direct method)			24,673		18,340

(Historical information is presented here for convenience of the example and should not be included into the

## H.IV Restated Statement of Changes in Equity for the Year Ended 31 December 2003

(all amounts expressed								
in CCU)	Restatement	Share	Translation	Fair Value	Retained			
	Procedures	Capital	Reserve	Reserve	Earnings	Total		
Balance at 1 January 2003	E.IX.1	82,525	-	(1,394)	39,423	120,554		
Net income for the year	H.II	_	_	_	(6,219)	(6,219)		
Currency translation differ	ence E.III	-	2,029	-	-	2,029		
Fair value gain on investm	ents E.IV	-	-	2,718	-	2,718		
Deferred tax on fair value	reserve E.X	-	(609)	(816)	-	(1,425)		
Total recognised gains and	losses	_	1,420	1,902	(6,219)	(2,897)		
Share capital paid in		5,600	-	-	-	5,600		
Dividends declared in 200	<b>E.IX.2</b>	_	-	-	(6,370)	(6,370)		
Balance at 31 December 200	D3 E.IX.1	88,125	1,420	508	26,834	116,887		
Share capital paid in Dividends declared in 200 Balance at 31 December 200	<ul><li>3 E.IX.2</li><li>3 E.IX.1</li></ul>	5,600 	- - 1,420	- - 508	- (6,370) 26,834	5,600 (6,370) 116,887		